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INTERMEDIATE - FIRST YEAR
SECOND LANGUAGE - SANSKRIT
MODEL QUESTION PAPER

TIME : 3 HRS MARKS:100
Note: 1) Question Nos. 1, 2, 3 and 14 can be answered in the medium of instruction of the
candidate.
2) The remaining questions should be answered in Sanskrit only.
1. Teh ¥eh T Rreat wie forera 6M
1) < OO OO U]
HT RIS, oo sssessss e EGIERL
2. Tk Faeragl awem 6M

A, Hfiepurper: Hare wadd
1. TEhaed HEhd el HEw auiad|

3. Ueh (HararTsl aamem 6M
3, TSI g aehid foTEd |

c

AT, FHHIE: 3iel 136 AR HEuur forerd|

4. TL: T TETE 4X2=8
H. JEAT: Hid TAT: AT ?
T <A SATHH HNSHETE FH e FHaa ?
3. WW%WQ
3. STt A 3R 2
3. TIATaIdt shef TTeT ST 2
. HiF: $:?szmﬁwm‘?

5. 341 Ay ATEaT forEml 2X3=6
3. fera fafed o= Hﬁlﬁﬁgﬂ‘ﬂqzl
3T, o7t TR Tt A IAmegiehasiH|
FRHER NRCE RG]
3. FeTshi=dl |1 ¥ ¥ a1l
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6. 3T: THaH =TT forem|
H. W5 7 HoHdd & T8 Jfd A Il
3T, ST HHOT: el INTHT I
3. 79 yad fagmo wet frfsaatial
3. YT o AT A Sponfa foRm)

7. AT THTT AR for@mal
3. T Ff A -2
AT, A fRad: ot: *?
3. e HicHl W 7 SRR?
3. SFIQTAT: 377 Y FH(-q?
3. o EEIf A FAq?

. fopmref foremrevt Faf-a?
8. TATUTT TATT TATTHT forEdl

H. WIS hige ®Y TTHAT?

T, WIS SARTY o6 T ?

ES Wqﬂ%tﬁ?ﬁﬁ%;ﬁ’cl‘l{?

3. USTHAR: Afeshmart ok ST 2

3. Tefewar formef =reteare Swafa?

%, AR T Lo foh o U=ed?

9. SIAET AT forEq]
areraT

RIS EERUIRRERKICR]

10. 3AV: IT5aT: WiAHTheh WUTUT forarl
38N ST T
3. 3. 5 (&)
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2X3=6

3X2=6

3X2=6

SM

2X6=12
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3. shifesatd T, AHSIA
3. 9&q 3. ANaTg
12. for afremmafadorgees foraeaal
3, T 3T, AT 3. Tohh:
3. qaIsty 3. e %, J AT
13. ST wfemmtEoTdEes dwerml
3:{.]:[%'4- AT 3:|T33(+Q: ERRICR + 3
Tog+wEy: 3. fomm + ot 3. €T + 3T

14. TSN (STT-EATITAT STTANTITIT 3T)
. JIHY T T A=l
3T, Td TeRaT F 118 379
3. HY SFHEAT STFHIYERT HRH|
3. guTR g e afeaq 2

3. 09 39 YISy

15. Tehel IS THTHTH &I
3. IS TI: &: 2
3. ag%ﬁraﬁ%r‘?
3. TSI el 9ol ?
3. Jg: Wéﬁﬂ@ﬁj ?

3. HISAT ¥[ht T Haife ?

16. Tehel U THTHT S|
H. TUHHARN b fortferae 2
T, HERIST: e Hal TR ?
3. ot Sfhiget WTve STavara 2
é. m: h: ?

3. FIESTEET Hid T ?
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2X3=6

3X2=6

3X2=6

5X1=5

5X1=5

SX1=5



